Solution to Exercise 5.1.

Solving equation (5.10) for P¢ , we get
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Doing the same with equation (5.13), we get
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Eliminating P¢c between these two equations, we have
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This relation reduces to
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and we finally get
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Solution to Exercise 5.2.

Derivation of (5.15, 5.16) is obvious; equation (5.18) is derived from (5.17) by using K
as given by equation (5.14) and P¢ given by equation (5.16).

Solution to Exercise 5.3.

Substitute these solutions into the Lane-Emden equation (5.8). For N=0 we have
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For N=1 we have
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For N=5 we have
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Solution to Exercise 5.4.

We have
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using mean molecular weight given by equation (3.20) as
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At the point where rI=R/2 ,



(€1/2)] = 6°(3.5)=0.28% = 0.025,
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